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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
BEL
= 1 2,338, 827
LR PEARER i AR
= 1 2,338, 827
Ik 07 R
= 1 919, 278
PR 7 5.5kw ¢80 2%
= 1 919, 278
PRAEIAE R fr
= 1 1,419, 549
R 7l
= 1 1,093, 941
LAYV AL T wEREAL VAL v F
= 1 325, 608
HhREE
= 1 2,338, 827
RUEIFUIG
= 1 2,338, 827
Pl L
= 1 12, 266, 438
PENPEKRR R T
= 1 123, 183
ik T
= 1 123, 183
PENPEKRR % Pk V7" ¢ 80X 25
= 1 123, 183
NP TR T
= 1 12, 143, 255

-1- [ -xzid B A 5 2 i =




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
bR HEAKIE A
= 1 10, 708, 325
Pl (R > FHEAK) 5. 5kW HEAKK /7 BiEBE 25,
L, LSV ALy F 3R
= 1 263, 545
Pl (27 o L AR SUS# 80A. 100A. FpYH
= 1 8,591, 774
W (7 va R —2R) F U a AR —A 1004
= 1 1, 495, 299
Pafr (IR ki) vy ¥
= 1 357, 707
WMET
= 1 1,393, 977
BERR PR M A7, R, PekE. S L—
Fo T
= 1 1,393, 977
[EXES S
= 1 40, 953
B B2
= 1 40, 953
B SElTE
= 1 1,968, 175
HIBGERE (FE L)
= 1 1,968, 175
Wi
= 1 14, 234, 613
B
= 1 3, 052, 924
Pafr ety
= 1 4,933, 767
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
PEAT T 5

= 1 22, 221, 304
BRS¢

= 1 642, 575
T AT

= 1 25, 202, 706
— R

= 1 5, 887, 294
TS

= 1 31, 090, 000
THEBLFH Y %H

= 1 3, 109, 000
TH#&G

= 1 34, 199, 000
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